
X[0] <= 0.5
mse = 1.008

samples = 26358
value = 0.005

X[17] <= 0.5
mse = 0.711

samples = 20662
value = 0.276

True X[16] <= 0.5
mse = 0.849

samples = 5696
value = -0.982

False

X[21] <= -0.173
mse = 0.18

samples = 1146
value = -0.105

X[21] <= 1.491
mse = 0.733

samples = 19516
value = 0.298

X[22] <= 0.5
mse = 0.152

samples = 661
value = -0.054

X[1] <= 0.5
mse = 0.213

samples = 485
value = -0.177

X[12] <= 0.5
mse = 0.143

samples = 492
value = -0.085

X[4] <= 0.5
mse = 0.168

samples = 169
value = 0.037

X[18] <= 0.5
mse = 0.143

samples = 467
value = -0.095

X[13] <= 0.5
mse = 0.109
samples = 25
value = 0.083

X[19] <= -0.186
mse = 0.147

samples = 235
value = -0.141

X[19] <= -0.319
mse = 0.134

samples = 232
value = -0.046

mse = 0.143
samples = 234
value = -0.147

mse = -0.0
samples = 1
value = 0.626

mse = 0.132
samples = 219
value = -0.059

mse = 0.103
samples = 13
value = 0.191

X[21] <= -1.438
mse = 0.081
samples = 18
value = -0.043

X[21] <= -1.095
mse = 0.089
samples = 7
value = 0.282

mse = 0.015
samples = 4

value = -0.248

mse = 0.084
samples = 14
value = 0.044

mse = 0.013
samples = 2
value = 0.614

mse = 0.011
samples = 5
value = 0.049

X[16] <= 0.5
mse = 0.132
samples = 83
value = 0.113

X[21] <= -0.989
mse = 0.19

samples = 86
value = -0.032

X[27] <= 0.5
mse = 0.121
samples = 80
value = 0.132

X[26] <= 0.5
mse = 0.166
samples = 3

value = -0.459

mse = 0.11
samples = 60
value = 0.175

mse = 0.13
samples = 20
value = 0.021

mse = 0.0
samples = 1

value = -1.154

mse = 0.006
samples = 2

value = -0.227

X[31] <= 0.5
mse = 0.21

samples = 46
value = 0.053

X[19] <= -0.968
mse = 0.149
samples = 40
value = -0.13

mse = 0.128
samples = 42
value = 0.012

mse = 1.018
samples = 4
value = 0.636

mse = 0.0
samples = 1

value = -0.856

mse = 0.137
samples = 39
value = -0.107

X[19] <= 0.075
mse = 0.251
samples = 28
value = -0.465

X[29] <= 0.5
mse = 0.204

samples = 457
value = -0.158

X[18] <= 0.5
mse = 0.077
samples = 3
value = 0.162

X[7] <= 0.5
mse = 0.19

samples = 25
value = -0.594

X[10] <= 0.5
mse = 0.002
samples = 2

value = -0.052

mse = 0.0
samples = 1
value = 0.519

mse = 0.0
samples = 1

value = -0.105

mse = 0.0
samples = 1

value = -0.016

X[19] <= 1.676
mse = 0.154
samples = 24
value = -0.561

mse = 0.0
samples = 1

value = -1.821

mse = 0.127
samples = 22
value = -0.497

mse = 0.045
samples = 2

value = -1.111

X[19] <= 1.179
mse = 0.215

samples = 300
value = -0.107

X[9] <= 0.5
mse = 0.167

samples = 157
value = -0.263

X[21] <= 0.984
mse = 0.233

samples = 236
value = -0.067

X[19] <= 1.972
mse = 0.113
samples = 64
value = -0.258

mse = 0.138
samples = 219
value = -0.106

mse = 1.207
samples = 17
value = 0.428

mse = 0.113
samples = 52
value = -0.31

mse = 0.058
samples = 12
value = -0.055

X[10] <= 0.5
mse = 0.116

samples = 123
value = -0.199

X[5] <= 0.5
mse = 0.282
samples = 34
value = -0.493

mse = 0.097
samples = 69
value = -0.27

mse = 0.126
samples = 54
value = -0.096

mse = 0.194
samples = 11
value = -0.818

mse = 0.241
samples = 23
value = -0.315

X[16] <= 0.5
mse = 0.701

samples = 18241
value = 0.319

X[21] <= 3.849
mse = 1.083

samples = 1275
value = 0.009

X[2] <= 0.5
mse = 0.512

samples = 17592
value = 0.307

X[21] <= 1.48
mse = 5.869

samples = 649
value = 0.656

X[9] <= 0.5
mse = 0.537

samples = 8809
value = 0.252

X[19] <= 0.345
mse = 0.481

samples = 8783
value = 0.362

X[1] <= 0.5
mse = 0.508

samples = 7129
value = 0.283

X[19] <= -0.569
mse = 0.639

samples = 1680
value = 0.122

mse = 0.555
samples = 753
value = 0.128

mse = 0.499
samples = 6376
value = 0.301

mse = 0.634
samples = 511
value = 0.216

mse = 0.636
samples = 1169
value = 0.079

X[10] <= 0.5
mse = 0.443

samples = 6727
value = 0.387

X[21] <= 0.346
mse = 0.594

samples = 2056
value = 0.28

mse = 0.42
samples = 2908
value = 0.351

mse = 0.459
samples = 3819
value = 0.415

mse = 0.0
samples = 1

value = -1.816

mse = 0.591
samples = 2055
value = 0.282

X[11] <= 0.5
mse = 5.675

samples = 648
value = 0.642

mse = 0.0
samples = 1

value = 14.741

X[12] <= 0.5
mse = 3.507

samples = 360
value = 0.386

X[32] <= 0.5
mse = 8.362

samples = 288
value = 0.984

mse = 2.58
samples = 289
value = 0.287

mse = 7.32
samples = 71
value = 0.818

mse = 10.597
samples = 193
value = 1.305

mse = 3.092
samples = 95
value = 0.32

X[10] <= 0.5
mse = 0.972

samples = 1273
value = -0.0

X[21] <= 4.492
mse = 39.014
samples = 2
value = 4.395

X[21] <= 2.491
mse = 0.957

samples = 504
value = -0.119

X[21] <= 3.455
mse = 0.966

samples = 769
value = 0.081

X[19] <= 1.628
mse = 0.923

samples = 452
value = -0.059

X[1] <= 0.5
mse = 0.972
samples = 52
value = -0.607

mse = 0.868
samples = 109
value = -0.346

mse = 0.906
samples = 343
value = 0.03

mse = 0.695
samples = 10
value = -1.278

mse = 0.879
samples = 42
value = -0.406

X[21] <= 2.681
mse = 0.851

samples = 763
value = 0.068

X[19] <= 3.521
mse = 12.412
samples = 6
value = 1.656

mse = 0.837
samples = 707
value = 0.09

mse = 0.956
samples = 56
value = -0.26

mse = 0.0
samples = 1
value = 8.662

mse = 0.174
samples = 5

value = -0.096

mse = 0.0
samples = 1

value = 10.641

mse = -0.0
samples = 1

value = -1.851

X[19] <= 1.249
mse = 0.605

samples = 5020
value = -1.033

X[21] <= -1.105
mse = 2.481

samples = 676
value = -0.61

X[17] <= 0.5
mse = 0.631

samples = 3974
value = -1.007

X[5] <= 0.5
mse = 0.497

samples = 1046
value = -1.13

X[21] <= -1.426
mse = 0.222

samples = 171
value = -0.8

X[3] <= 0.5
mse = 0.649

samples = 3803
value = -1.017

mse = 0.0
samples = 1
value = 0.578

X[22] <= 0.5
mse = 0.21

samples = 170
value = -0.809

X[2] <= 0.5
mse = 0.162

samples = 106
value = -0.882

X[20] <= 0.5
mse = 0.265
samples = 64
value = -0.688

mse = 0.183
samples = 50
value = -0.784

mse = 0.134
samples = 56
value = -0.958

mse = 0.158
samples = 57
value = -0.783

mse = 0.495
samples = 7
value = 0.012

X[14] <= 0.5
mse = 0.622

samples = 1544
value = -1.059

X[21] <= 1.139
mse = 0.665

samples = 2259
value = -0.988

X[21] <= -1.334
mse = 0.613

samples = 1419
value = -1.074

X[1] <= 0.5
mse = 0.687

samples = 125
value = -0.901

mse = 0.28
samples = 49
value = -1.292

mse = 0.624
samples = 1370
value = -1.065

mse = 1.41
samples = 2
value = 0.658

mse = 0.585
samples = 123
value = -0.95

X[11] <= 0.5
mse = 0.627

samples = 2189
value = -0.995

X[21] <= 1.156
mse = 1.839
samples = 70
value = -0.76

mse = 0.554
samples = 1570
value = -1.022

mse = 0.805
samples = 619
value = -0.928

mse = 8.768
samples = 10
value = 0.546

mse = 0.486
samples = 60
value = -0.959

X[13] <= 0.5
mse = 0.476

samples = 427
value = -1.193

X[12] <= 0.5
mse = 0.508

samples = 619
value = -1.088

X[19] <= 1.555
mse = 0.372

samples = 326
value = -1.244

X[21] <= 2.179
mse = 0.745

samples = 101
value = -1.045

X[26] <= 0.5
mse = 0.497

samples = 102
value = -1.07

X[21] <= 1.934
mse = 0.304

samples = 224
value = -1.314

mse = 0.569
samples = 75
value = -0.957

mse = 0.147
samples = 27
value = -1.395

mse = 0.338
samples = 86
value = -1.419

mse = 0.275
samples = 138
value = -1.254

X[15] <= 0.5
mse = 0.612
samples = 77
value = -1.125

X[21] <= 2.208
mse = 1.147
samples = 24
value = -0.729

mse = 0.634
samples = 72
value = -1.084

mse = 0.034
samples = 5

value = -1.645

mse = 0.576
samples = 3
value = 0.709

mse = 0.749
samples = 21
value = -1.026

X[9] <= 0.5
mse = 0.542

samples = 454
value = -1.047

X[1] <= 0.5
mse = 0.401

samples = 165
value = -1.197

X[21] <= 2.829
mse = 0.63

samples = 307
value = -0.994

X[18] <= 0.5
mse = 0.337

samples = 147
value = -1.157

mse = 0.646
samples = 289
value = -0.971

mse = 0.257
samples = 18
value = -1.34

mse = 0.364
samples = 65
value = -1.014

mse = 0.294
samples = 82
value = -1.258

X[19] <= 1.503
mse = 0.047
samples = 8

value = -1.553

X[19] <= 3.446
mse = 0.413

samples = 157
value = -1.178

mse = 0.0
samples = 1

value = -1.074

mse = 0.006
samples = 7
value = -1.64

mse = 0.409
samples = 156
value = -1.183

mse = 0.0
samples = 1

value = -0.001

X[19] <= -1.129
mse = 5.895
samples = 52
value = -0.012

X[21] <= 1.145
mse = 2.145

samples = 624
value = -0.663

X[12] <= 0.5
mse = 4.097
samples = 49
value = -0.225

X[13] <= 0.5
mse = 22.761
samples = 3
value = 4.405

X[21] <= -1.18
mse = 2.09

samples = 40
value = -0.638

X[20] <= 0.5
mse = 8.501
samples = 9
value = 1.267

X[25] <= 0.5
mse = 0.754
samples = 31
value = -0.936

X[1] <= 0.5
mse = 5.454
samples = 9
value = 0.448

mse = 0.872
samples = 23
value = -0.736

mse = 0.217
samples = 8

value = -1.373

mse = 4.632
samples = 3
value = 2.555

mse = 2.076
samples = 6

value = -0.722

X[9] <= 0.5
mse = 5.231
samples = 7
value = 0.497

X[9] <= 0.5
mse = 7.058
samples = 2
value = 5.117

mse = 7.044
samples = 4
value = 1.612

mse = 0.116
samples = 3

value = -0.777

mse = 0.0
samples = 1
value = 1.36

mse = 0.0
samples = 1
value = 6.996

mse = 0.0
samples = 1
value = 0.051

X[15] <= 0.5
mse = 7.611
samples = 2
value = 8.759

mse = 0.0
samples = 1

value = 11.518

mse = -0.0
samples = 1
value = 6.0

X[6] <= 0.5
mse = 1.686

samples = 427
value = -0.789

X[19] <= 2.461
mse = 3.033

samples = 197
value = -0.39

X[8] <= 0.5
mse = 1.599

samples = 425
value = -0.805

X[29] <= 0.5
mse = 7.21
samples = 2
value = 2.926

X[3] <= 0.5
mse = 1.827

samples = 332
value = -0.727

X[19] <= 0.908
mse = 0.728
samples = 93
value = -1.072

mse = 1.071
samples = 110
value = -0.984

mse = 2.158
samples = 222
value = -0.598

mse = 0.577
samples = 84
value = -1.17

mse = 1.243
samples = 9

value = -0.343

mse = 0.0
samples = 1
value = 4.825

mse = 0.0
samples = 1

value = -0.871

X[21] <= 2.294
mse = 3.28

samples = 175
value = -0.289

X[2] <= 0.5
mse = 0.256
samples = 22
value = -1.212

X[18] <= 0.5
mse = 2.961

samples = 170
value = -0.369

X[13] <= 0.5
mse = 6.492
samples = 5
value = 2.415

mse = 3.921
samples = 94
value = -0.074

mse = 1.66
samples = 76
value = -0.704

mse = 0.922
samples = 2
value = 4.284

mse = 0.239
samples = 3

value = -0.701

X[5] <= 0.5
mse = 0.206
samples = 19
value = -1.302

X[19] <= 2.882
mse = 0.233
samples = 3

value = -0.691

mse = 0.221
samples = 9

value = -1.455

mse = 0.103
samples = 10
value = -1.085

mse = 0.064
samples = 2
value = -0.33

mse = 0.0
samples = 1

value = -1.232


